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2N 23
HE: QIRAZAH(Z=EH)
el DIREA Y 24X XA CER-ED
i
SA BB (SH) - NRAY - B Ol At o ﬁ}l&ﬁ HRE2
b |
-2 Al 3l 30,000 * 28% « 23| 1,680

OFUNXNEZ Y S NE=S AEZ

7,0008 * 4% + 128 336
OxZens X8 8,500,0002 8,500
02 B2l 2,000 7,000 A5,000
OFUATAME HASRZY RK 244
2,000,008 * 144 2,000
301 LY R A 2,700 3,500 A800
12 JIEH2 &3 2,700 3,500 800
OFURA RMZt BB S43 2,700,000 2,700
VIS X2 189,870 189,870 0
301 YPB A 189,870 189,870 0
B5EZ- 0T - IBHSHAS 189,870 189,870 0
ooZ+g 182,520
D24y 300,000 * 39 + 128 140,400
L 300,000 392 * 23l 23,400
~slolE Ay
20,0002 * 399 « 23] + 128 8,720
SR = 50,0008 * 1478 * 13l 7,350
NEYHW N 11,040 9,580 1,460
301 YBHEHB 11,040 9,580 1,460
04 I BYHHAHX 11,040 9,580 1,460
ONSYHHH S| 11,040
~OF Al 4,0008 * 4% * 1HTH * 3652 5,840
-2 2 Lyl 100,002 * 1HCH * 128 1,200
L] 4,000,008 * 194 CH 4,000
SAE sT2E 137,409 99,884 37,525
101 @121l 9,293 9,155 138
YSEEEPETES 9,293 9,155 138
OANIIXIFH L BBA&Z2 o2 9,293
30 69,7602 * 1% * 1202 8,372
-ABRE JIRRHS 8,372,008 * 11% 921
201 et HH| 90,309 89,729 580
01 At 2t 2l bl 7,994 7,414 580
OS2 SERLHl 150,008 * 45 * 80% 480
OMSZHEEN Ux2 250,000% 250
OFJIFBE HB4L4E 100,008 * 128 1,200
OLTOIABAZ LBt4 S|
1,500,0008 * 13 * 80% 1,200
OAYNERSHARE e +48
600,0008 * 13| 600
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SN 2=
HE: QRAZAH(ZRY)
Sl RIAZA Y PR AW (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFAL & FOUXNXMEH H=I] 22l
40,000& * 4CH = 128 1,920
OflEa BIHII Y2
56,000 = 2CH » 12& 1,344
OXBHA=Z olld Bt e
500,000& = 23| 1,000
02 B2 82,315 82,315 0
OFAHHI AL (FA & O2ABAE) 5,160
SHA Y FURIIME (2UGLA TE)
50,000& = 12& 4,200
-OF B8 & 80,000& = 123 960
02323 % HA 42,340
-HI R ERS(EM Y 0ASHE)
3,300,000& * 12& 39,600
-HAHS & FAXR = 40,000& = 123 480
-HaS=AIE IS
60,000& * 1A + 128 720
—ESINERES 110,000 * 23| 220
-EA R FOUXNXNEH RESSMES
80,000& = 12& 960
-FRNXHE CIHY AEZ
30,000& = 12& 360
ode Azl 12,0002 » 5A12F » 100 6,000
OAZZHl |X2eltl 21,550
-AE R X HI(1,814m") 4,000,000& 4,000
-HE3d =dKX 1,000, 000& 1,000
-HAS2ZE ] 270,000 * 37042 9,990
-Hlag=sAlE &l 500,000& * 1JH 4 500
-WFHI e ¥ FEFY 100,000 * 3CH 300
-HM&&H |X2el 220,000& = 180H 3,960
“AIAE ol EA
100,000& = 1804 = 13l 1,800
OXt& & Bl 3,945
-2~ 835t =E 2,605,000& = 104 2,605
“XHEBA=Z 70,0002 = 104 * 23] 140
-SEE=SXE MO 1,200,000 = 1CH 1,200
OgIael ¥Z PC QHY AIEZ2
30,0008 * 123 360
OFA =& |2 2,000,000& 2,000
OBM & FUXXHE 2 CCTV
80,000&  12& 960
206 M= Hl 1,000 1,000 0
01 =8l 1,000 1,000 0
S0t Jt2+ MH==84| 1,000, 000& 1,000
401 Al H L 2Tl 27,000 0 27,000
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2N 23
Ha: olAZA(ZR)
Sl DIREAN Y SMEX XS CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 27,000 0 27,000
OMD cel228 ZA 27,000,000& 27,000
405 TtabF S| 9,807 0 9,807
01 AL EFFH S 9,807 0 9,807
OND 2gz g 9.807
-EHADH JI=2E 454,000& « 1CH 454
“HADHE AEH 276,000& = 204 552
-EAlgls JI=2E 822,000& « 1CH 822
-HAOls HEE 307,000& = 204 614
-=A0ls JI=2¥ 809,000& =« 5CH 4,045
-SA0ls H&2¥ 332,000& = 10CH 3,320
ANAAMEHE A X 2,400 2,400 0
201 Let2d] 2,400 2,400 0
01 At 22l 2,400 2,400 0
OXNSASE2EEEAME 2 &S
20,000& = 159 « 83 2,400
SHARZAGEI(ZEH) 276,600 264,600 12,000
SMHEFA 276,600 264,600 12,000
oz & 27 2AY 101,600 101,600 0
201 ¢er24] 6,600 6,600 0
02 =224l 6,600 6,600 0
OEXNOIE ZZAMAE(D-DAS) S22 S8H
1,650,000& * 43| 6,600
401 Al HIZ 201 Y| 95,000 95,000 0
01 A& HI 80,000 80,000 0
O&2 8 ANE |X 50,000,000& 50,000
OHIEMY N2> X 10,000, 000& 10,000
ZQcR U AW 20| X
15,000, 000& 15,000
OARBAIE XN® S = 5,000,000& 5,000
03 A& =2 THHI 15,000 15,000 0
ON&ZEH gtz 5,000,000 5,000
O&=Z2 & otatdEl 10,000, 000& 10,000
22 ZHAE 25,000 15,000 10,000
206 M= Hl 5,000 5,000 0
01 =4l 5,000 5,000 0
OZZx4d M+ 5,000,000& 5,000
401 A& HIZ 201 8] 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
OE2¢H 22X 4 10,000, 000& 10,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFDIEZSE 3t =4 10,000, 000& 10,000
QI E O 0l At 150,000 148,000 2,000
401 A& HIZ 2018 150,000 148,000 2,000
01 A& HI 150,000 148,000 2,000
OZd MY (2&e~a=e2l) HUR AT
20,000,000& 20,000
O (AL ui=2~25383s4d) 3t ZHA
& 25,000,000& 25,000
OgZe MY 4R 23 2L T4
20,000,000& 20,000
OFOIE MMz (=) &H L X &X
30,000, 000& 30,000
OUsL(ISH 27) 22 =4
10,000, 000& 10,000
OHOIE MY (2doal) HLP A
25,000,000& 25,000
Osdz ZTE=(a3del) & 20,000,000& 20,000
HE2IZH (A=) 121,355 155, 162 A 33,807
Jl23d(Z2=2H) 121,355 155, 162 A 33,807
JlE2&l 121,355 155,162 A 33,807
201 L2l 70,025 70,322 A 297
01 At 22l 43,342 46,010 A 2,668
OY= 4+ (L&) 14,340,00094 14,340
Oget==EH| 7,398,000 7,398
Oz &l 6,460,000 6,460
O=SAI Xz 200,000& * 10H = 12& 2,400
OHEEH 222 2| 12,744
-ZoZeH 7,920
g4
440,000 » 200 = 48 = 23] = 90% 6,336
-E™ 440,000& = 2CH = 23] = 90% 1,584
-YotZely 200,000& * 11CH * 23] = 90% 3,960
-SAINEY ¥ =8)
200,000& = 1CH = 33l = 90% 540
—-FAX 120,000& = 1CH = 33| = 90% 324
02 2324l 26,683 24,312 2,371
033232 ¢ HA(RER2Z) 23,540,000 23,540
OdHFEH KFAE=Hl 3,143
-CHIIs AR I1D1
1,300,000 * 24CH = 5% * 70% 1,092
-Telg 4,000,000 = 13CH = 2% » 70% 728
-= AtJ| 15,000,000 * 1CH = 2% = 70% 210
—-FAX 600,000& = 1CH * 2% » 70% 9
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